


Pozicié

O© oo ~NPkrWNPR

10
11
12
13
14
15
16
17
18
19
20
21
22
23
24
25
26
27
28
29
30
31
32
33
35
36
37
38
39
40
41
42
43
44
45
46
47
48
49

AO1

A02

Cikkszam
421837-6
153623-4
267268-3
231907-1
324406-1
324336-6
233383-5
313115-7
216008-6
216007-8
324338-2
253139-0
421838-4
153624-2
213373-4
253139-0
153626-8
253139-0
210024-0
241884-9
515263-0
681614-0
210025-8
418180-2
528179-0
183604-4
819064-1
253929-1
262001-8
266331-9
266091-3
265995-6
418179-7
651572-4
646325-4
646755-9
654531-7
819064-1
645253-0
643550-8
191940-4
850644-4
265995-6
687052-4
P-12924
682566-8
824702-2
134841-3

Megnevezés
Gumiitkézo
Hajtdmuhaz
Alatét
Rugés gyuru 10
Ullo
Kalapéacs
Nyomoérugo
Rugotartéd
Acélgolyo 4
Acélgolyo6 6,4
Tengely
Tavtarto Alatét 8
Tdmitogyuru
Haz
O-gyuru 22
Tavtarté Alatét 8
Fogaskerék
Tavtartd Alatét 8
Golydéscsapagy 608 2RS
Ventilator
Forgorész
Szigetelo alatét
Golydscsapagy 627LLB
Terelolemez
Allorész
Motorhaz
MAKITA cimke
Zarbésapka 5
Poliuretan gyuru 5
Imbuszcsavar M5x50
Onmetszo csavar 4x50
Onmetszo csavar M4x18
Kapcsolo fedél TW0350
Kapcsolo
Fojtétekercs
Indit6 ellenallas
Csatlakoz6sav
MAKITA cimke
Zajszuro kondenzator
Szénkefetart6-sapka 5-8
Szénkefe CB-411
Tipustabla
Onmetszo csavar M4x18
Kébel-fesziltségmentesito
Téapkabel
Kéabelvédo
Hordtaska
DugOdkulcs 24

Mennyiség

PR R RRRBRR

1

©

PR RPRPRPRNRPRPNRPRRPRPRPRPRPREPNNADMDIMRRPRPREPRRPRREPREPREPRPRRPRRERRERRERN



